o=z

t-CO,

. 11,532 126,852 (11 )
2 5,500 49,500 (9 )
3 3,669 36,600 (10 )
4 NG 3,444 38,917 (11 )
5 3,000 45,000 (15 )
6 2,200 15,400 (7 )
7 1,984 29,760 (15 )
g 1,700 15,300 (9 )




o=z

t-CO,

0 1,680 11,760 (7 )

10 1,621 24,315 (15 )

1 1,422 14,220 (10 )

12 1,351 20,265 (15 )

13 1,226 18,390 (15 )

" 881 8,810 (10 )
()

15 ) CO2 858 12,870 (15 )
()

16 800 12,000 (15 )

(

)

(

)




N
0 _ t-CO,
17 651 5,859 (9 )
18 633 9,495 (15 )
|0 ) 468 7,020 (15 )
0|0 ) 398 5,970 (15 )
2|C ) 385 5,775 (15 )
22 304 4,560 (15 )
()
2 O 303 4,545 (15 )
()
46,010 523,273




